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The Summary

Jovan N. &	!�, was without a doubt the father of modern Serbian historiography for
the so-called “Turkish period.” His tireless research in the archives of Venice, Geneva,
Genoa, Florence, Padua and and other cities led him to what he contended was a cornerstone
of historiography: namely, the questioning of the authenticity of events or phenomena not
actually mentioned in primary sources.  On this point he was in decades-long conflict with
historians of Montenegro as well as with scholars in Serbia.  That is the framework for this
latest review of Tomic’s life and work – in memory of his great student Gligor ���
	����,.
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